-80kg= =72
(F2HAK )

-87kee Al H el
(Et=#|ch)

SEN 9 HIAE A4 680] =7}
hE= A9

3¢ 710N S 2013 EfAE
=7HHE 718 HAHE -80kgoll &
gt ITAIRFOC) Z2RTE o] T
3] 58 AHAIoHH Ef=trae] &
=Rup

-53kex HFE

(BE|oh)

-68keE 0|Fd

(SOotch)

ShAICHO] A1¥el = -87keFolAl,
A3l JRE = AR -53kg=Hol
A =7HHEE &3] 2= 74 1597
B 21971A] HAI A FolEctolA &
g 2013 AAEREE A-Athslol &
Hok= A g AL

I SOHThe] 0]Fd 2 HAHR: -68ks

20134 05¥ 31¥Y =4

+87kex M7\ M
(As|ch)

=, A8 LF9] SZE= HAR -
80kg+, B3ICHO] F71€42 +87kge
oA 22t =7H0HE g8e 2ol 10¢
6L EE 108 157K B=1 FZTI0A
BAE A 63] SOtAIor Z71TthS] 0]
ST

OlE 639 M= 5S4

2l 0200 AXZ

i+ 63 Ef=03

EiH % ASol,

A3 AL #9135 -A938] H=
ASTHS] CHEHROIA SHES A
JAC}. o1FH-F71d HAl Av1gl A
IAIFUS] ASHAA sHES T
WL}, §3] 0|3 A938] F=AE
CHSHROIM = SHE S A S4HE]
A {HIAE,

SEYA] BIACES 453 3
A2 St 241 A4S0 AAtE
ol ENS0HEE A HO| 71WA] 82}
SHH'TH “O)tH THE|o|A 248t
2 A5 SUEIALE Aol THA] 8
H 2 = ARE FHE URIeH
SH}" 31 Y3t

M&& 71Xt ggundle2000@iusm.co.kr



